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Sixth Semester B.Arch. Degree Exami*Uffifltr, Jan./Feb. 2021
d We""w-

Structur€s - Uleffi
,,q**

Time:3hrs. 
*W 

Marks:100

Note: l. Answer aaffiEfull questious r""F
2. Use o/LSffi - 2007 , SP6 and steW*fu,,bte are allowed
3.,4ssur@issing data suitably..,w

Defure : i) Pitch of bolts ui="'til ffiauge distance iiitHdge distance

iv) End distance v) $teEBded distance. .1 " (05 Marks)

Find the efficiency of thc ffimt shown in fig.alp)$Given Mzo bolts of grade 4.6 and
plate of grade Fe410 

ffiW'*1":di ,. r=--flry (15 Marks)
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List the different Roll.Sd'steel sections. . , 'T ._ (05 Marks)

A bracket plate bqltefl to a verticat cotqffiSiloaded as sho.ftffirr frg. Q2(b). If Mzo bolts of
g.1dj a.6 areJffiSetermine the maxiffium value of facffi*ioad'P'which can be carried
safely. W:t' #*'1*s 6' (15 Marks)
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in Fig. Q4 by fillet weld
(20 Marks)

Determine the maximum load that can be resisted by the

of size 6mm. If it is shoP welding.

T
Fig. Qa

3act
' Batbr. v;!t:^du

l";e;i i+UOOl. fhr CoLr*n may be assuflred to have restrained in position but not in direction
sil *e ;h . s" (20 Marks)

at both emlh(hhged ends). ,*& 6.],.#;.w'i - .-qb

hnrn
;{.

,-f.iry#t..
d .-u*

roof truss to carry a factored tensile

reversal ofstress due to the action of
20mm shop bolts of grade 4.6 for the

(20 Marks)

Design a tace@cgilumn wittr 2 channels blck'to back of length,l0* t9.:*Y_:i l:iit3:l:f:

;.f.v
Design a slab base for a column IS{fl"300@ 57?N/r4&}Wg-u, axial fffi&red load of 1000kN'

M2s grade concrete is used foW foundatlon frA$4,g Welded connecff9ff between column and

useltate. {5ffi 
"-,.y; 

'' *** (2oMarks)
=%c *fld*B"* "., o

Write short notes on :, * fu - ", 
' 

,"'Y - '*
a. Advantagetun@*uOvantagesofboftqfc0rinection. ffi*:''
b. Advantages @isadvantages of stdel Sructures- ip
c. Types ofwelddd joints. re ) *=" 

"

d. Firi protqcti6n for steel struct&F. ,^ffi'' (20 Marks)
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